
Properties of Skew Normal Operators

R. JEETENDRA

*Mathematics Department,
Kongu Engineering College, Erode- 638060, Tamilnadu, India.*

D.KAVITHA

*Mathematics Department,
JCT College of Engineering and Technology, Coimbatore- 641 105, Tamilnadu, India*

Abstract: *This paper deals with different ways of operant on a Hilbert space $H(T)$ called skew n typical operant. A Skew n typical operant (or skew n normal operant) is a generalization of n typical operant. In this paper some basic properties of Skew n typical operant are characterized.*

AMS Subject Classification: 47B20,47B99,47B33.47B38.

Keywords: *Normal operators, skew normal operators.*

Introduction

The branch which deals with linear operators on function spaces is stated as operator theory. The study of functional analysis relies on the topology of function spaces.

Let $L(H(T))$ be the algebra of all bounded linear operant acting-upon $H(T)$ is Hilbert space. Anuradhagupta [7] analyzed and introduced a new class of operator skew n typical operants. Skew n typical operants is a generalization of n typical operants.

In this paper some basic properties of skew n typical operants and skew n bitypical operants are characterized.

Skew n typical operant

An operator $V \in L(H)$ is called n typical if $V^*V^n = V^nV^*$

Quasi n typical if $V(V^*V^n) = (V^*V^n)V$. An operator $V \in L(H)$

is skew n typical if $(V^nV^*)V = V(V^*V^n)$ i.e., V commutes with n typical operants and it is denoted by $[snN]$

Principle 2.1 Let $V \in L(H)$ be skew n typical operant which is distinctively homogeneous to an operator S iff the multiplicative commutative property of u and v is satisfied. Then S is skew n typical.

Proof:

\because V is distinctively homogeneous to S, there is unitary operator U such that $S = U^* V U$ that signifies $S^* = U^* V^* U$.

it should be exhibited that $(S^n S^*)S = S(S^* S^n)$. Since V is skew – n – typical.

$$\text{Then } (V^n V^*)V = V(V^* V^n)$$

Now

$$(S^n S^*)S = S(S^* S^n)$$

$$((U^* V U)^n (U^* V U)^*) U^* V U = U^* V U ((U^* V U)^* (U^* V U)^n)$$

$$(U^* V^n U U^* V^* U) U^* V U = U^* V U (U^* V^* U U^* V^n U)$$

$$(U^* V^n V^* U) U^* U V = U^* U V (U^* V^* V^n U)$$

$$(V^n U^* U V^*) V = V(V^* U^* U V^n)$$

$$(V^n V^*) V = V(V^* V^n) \because V U^* = U^* V, V^n U^* = U^* V^n.$$

\therefore S is skew – n – typical.

Example 2.2

Let $S = \begin{pmatrix} 2 & 3 \\ 0 & 1 \end{pmatrix}$ and $V = \begin{pmatrix} 0 & 0 \\ 1 & 3 \end{pmatrix}$ on R^2 . Then S+T is not skew typical.

Principle :2.3

Let $V = U|V|$ be the symmetric positive operant V. Then $V = U|V|$ is skew – n –

typical. if $U|V| = |V|U$

Proof:

Assume $U|V|^n = |V|^n U$, then

$$(V^n V^*)V - V(V^* V^n) = (U|V|^n |V| U^*) U|V| - U|V| (|V| U^* U|V|^n)$$

$$= (U|V|^{n+1} U^*) U|V| - U|V| (|V|^{n+1})$$

$$\begin{aligned}
 &= (|V|^{n+1}UU^*)U|V| - U|V|(|V|^{n+1}) \\
 &= |V|^{n+1}(U|V| - U|V|) \\
 &= 0
 \end{aligned}$$

So V is Skew – n – typical.

Principle 2.4:

If V is a involution operant, then V^{-1} is also a skew -n – typical operant.

Proof:

\because V is involution operant . $V^* = V$

Assume that V^{-1} is involution operant. Then $(V^{-1})^* = (V^*)^{-1} = V^{-1}$

To prove V^{-1} is Skew – n – typical.

Consider

$$(V^n V^*)V = V(V^* V^n)$$

$$((V^{-1})^n (V^{-1})^*)V^{-1} = (V^{-1})^n V^{-1} V^{-1} = (V^{-1})^{n+2} \dots\dots\dots(1)$$

$$V(V^* V^n) = V^{-1}((V^{-1})^* (V^{-1})^n) = (V^{-1})(V^*)^{-1} (V^{-1})^n = (V^{-1})(V^{-1})(V^{-1})^n = V^{-(n+2)} \dots\dots\dots(2)$$

$\therefore V^{-1}$ is skew – n – typical.

.

Principle2.5

Let V be an involution operant on a Hilbert space on H(T), then S^*VS is skew – n – typical.

Proof:

\because V is involution operation $V^* = V$

$$\text{Consider } (S^* V^n S)^* = S^* V^n S^* = S^* V^n S = S^* V^n S \dots\dots\dots(1)$$

$\Rightarrow S^* V^n S$ is involution operant. Then $S^* V^n S$ is skew- n – typical.

Assume that $S^* V^n S$ is involution operant.

$$\text{consider } (S^* V^n S)(S^* VS)^* (S^* VS) = (S^* V^n S)(S^* VS)(S^* VS)$$

$$= S^* V^{n+2} S$$

$$= (S^* V S)^{n+2} \dots\dots\dots(2)$$

$$V(V^* V^n) = (S^* V S)(S^* V S)^* (S^* V S)^n = S^* V S (S^* V S) S^* V^n S = S^* V^2 V^n S = S^* V^{n+2} S = (S^* V S)^{n+2} \dots\dots\dots(2)$$

∴ $S^* V S$ is skew – n – typical operant .

Skew – n – bitypical operator

An Operator $V \in L(H(T))$ is skew – n – bitypical if $V(V^* V^n V^n V^*) = (V^n V^* V^* V^n) V$ i.e.,
V commutes with n bitypical operant and it is denoted by $[snBN]$

Principle 3.1

If $V \in [snBN]$ then,

- i) αV for any real number α
- ii) The diminution V/M of V to any concurrence space M of H that diminishes V .

Proof:

i) If α is any scalar, which is real then,

$$(\alpha V)^* = \alpha V^*$$

$$\begin{aligned} [(\alpha V)^* (\alpha V)^n (\alpha V)^n (\alpha V)^* (\alpha V)] &= \alpha V^* \alpha^n V^n \alpha^n V^n \alpha V^* \alpha V = \alpha^3 \alpha^{2n} V^* V^{2n} V \\ &= \alpha^{2n+3} V^* V^{2n+1} \dots\dots\dots(1) \end{aligned}$$

$$\begin{aligned} (\alpha V)[(\alpha V)^n (\alpha V)^* (\alpha V)^* (\alpha V)^n] &= \alpha V \alpha^n V^n \alpha V^* \alpha V^* \alpha^n V^n = \alpha^3 \alpha^{2n} V V^* V^{2n} \\ &= \alpha^{2n+3} V^* V^{2n+1} \dots\dots\dots(2) \end{aligned}$$

From (1) & (2) αV is also skew – n- bitypical.

ii) If V is Skew – n- bitypical ,then $(V^* V^n V^n V^*) V = V(V^n V^* V^* V^n)$

Consider

$$(V/M)^*(V/M)^n(V/M)^n(V/M)^*(V/M) = (V^*V^nV^nV^*/M)(V/M)$$

$$(V/M)(V/M)^n(V/M)^*(V/M)^*(V/M)^n = (V/M)(V^n/M)(V^*/M)((V^*/M)(V^n/M))$$

$$= V(V^nV^*V^*V^n)/M$$

Hence $V/M \in [snBN]$

Principle 3.2

If $V \in L(H(T))$ is n bitypical then $V \in [SnBN]$.

Proof:

If $v \in L(H(T))$ is n bitypical then $V^*V^nV^nV^* = V^nV^*V^*V^n$

$$(V^*V^n.V^nV^*)V = V^*V^nV^nV^*V$$

$$= V^nV^*V^*V^nV$$

$$= V^nV^*V^nV^*V$$

$$= V^nV^nV^*V^*V$$

$$= V(V^nV^*V^*V^n)$$

Hence V is skew – n – bitypical.

Principle :3.3

If $V \in [SnBN]$ and skew- n – bitypical operant. .If V and E are doubly commuting then VE is skew – n – bitypical.

Proof:

Given $V \in [SnBN]$ and by definition of skew – n – bitypical operator. We know that

$$V^*V^nV^nV^*)V = V(V^nV^*V^*V^n)$$

$$\text{Also } E \in [SnBN] \text{ so, } (E^*E^n.E^nE^*)E = E(E^nE^*.E^*E^n)$$

$$((VE)^*(VE)^n(VE)^n(VE)^*)(VE) = (VE)^*(VE)^n(VE)^n(VE)^*(VE)$$

$$= E^*V^*V^nE^nV^nE^nE^*V^*VE$$

$$= V^*E^*V^nE^nE^nV^nE^*V^*EV^*V$$

$$= V^*V^nE^*E^nE^nE^*V^nEV^*V$$

$$= V^*V^nE^*E^nE^nE^*EV^nV^*V$$

$$= V^*V^n(E^*E^nE^nE^*)EV^nV^*V$$

$$= V^*V^nE(E^*E^nE^nE^*)V^nV^*V$$

$$= V^*V^n(E^*E^nE^nE^*)EV^nV^*V$$

$$= V^*V^nE(E^nE^*E^*E^n)V^nV^*V$$

$$= V^*V^nEE^nE^*E^*E^nV^nV^*V$$

$$= V^*EV^nE^nE^*E^*V^nE^nV^*V$$

$$= EV^*E^nV^nE^*V^nE^*V^*E^nV$$

$$= EE^nV^*V^nE^*V^nV^*E^*VE^n$$

$$= EE^nV^*E^*V^nV^nV^*VE^*E^n$$

$$= EE^nV^*E^*V^nV^nV^*VE^*E^n$$

$$= EE^nE^*(V^*V^nV^nV^*)VE^*E^n$$

$$\begin{aligned}
 &= EE^n E^* V (V^n V^* V^* V^n) E^* E^n \\
 &= EE^n E^* V V^n V^* V^* V^n E^* E^n \\
 &= EE^n V E^* V^n V^* V^* E^* V^n E^n \\
 &= E V E^n E^* V^n V^* V^* E^* V^n E^n \\
 &= E V E^n V^n E^* V^* V^* E^* V^n E^n \\
 &= E V E^n V^n V^* E^* V^* E^* E^n V^n \\
 &= (EV) [(EV)^n (EV)^* (EV)^* (EV)^n]
 \end{aligned}$$

Hence EV is skew n – bitypical operant.

Principle:2.6

Let $V = U|V|$ be the symmetric positive of an operant V. Then $V = U|V|$ is skew n bitypical if $U|V| = |V|U$, $(U|V|)^* = |V|U^*$

Proof:

Consider

$$\begin{aligned}
 &(V^* V^n V^n V^*)V - V(V^n V^* V^* V^n) = \\
 &(|V|U^* U|V|^n U|V|^n |V|U^*)U|V| - U|V|(|V|^n |V|U^* |V|U^* U|V|^n) \\
 &= (|V|^{n+1} U|V|^{n+1}|V| - U|V|(|V|^n U U^* |V|V|V|^n)) \\
 &= |V|^{n+1} U V^{n+1} |V| - U|V|(|V|^{n+1} |V|^{n+1}) \\
 &= 0
 \end{aligned}$$

Hence Vis skew n bitypical.

Principle 3.7

Let $V \in L(H(T))$ be skew n bitypical operant which is unique similar to an operator L if and only if $VU = UV, VU^* = U^*V, V^*U = UV^*$, then L is skew n – bitypical.

Proof:

V is unitarily analogous to L, there is a unitary operator U such that $L = U^*VU$

That signifies $L^* = U^*V^*U$.we prove that $(L^*L^nL^*)L = L(L^nL^*L^*)$.

Since V is skew – n – bitypical then $(V^*V^nV^*)V = V(V^nV^*V^*)$

Consider $(L^*L^nL^*)L = (U^*V^*UU^*V^nUU^*V^*UU^*V^*U)U^*VU$

$$= U^*V^*V^nV^*VU$$

$$= U^*V^*V^nV^*UV$$

$$= U^*V^*V^nV^*UV^*V$$

$$= U^*V^*V^nUV^*V$$

$$= U^*V^*UV^nV^*V$$

$$= U^*UV^*V^nV^*V$$

$$= V^*V^nV^*V$$

$$= (V^*V^nV^*)V \dots\dots\dots(1)$$

$$L(L^nL^*L^*) = U^*VU(U^*V^nUU^*V^*UU^*V^*UU^*V^*U)$$

$$= U^*VV^nV^*V^*U$$

$$= U^*VV^nV^*UV^n$$

$$\begin{aligned}
 &= U^* V V^n V^* \cup V^* v^n \\
 &= U^* V V^n \cup V^* V^* V^n \\
 &= U^* V \cup V^n V^* V^* V^n \\
 &= U^* \cup V V^n V^* V^* V^n \\
 &= V V^n V^* V^* V^n \\
 &= V(V^n V^* V^* V^n) \dots\dots\dots(2)
 \end{aligned}$$

From (1) and (2) L is skew n bitypical operant.

Involution operation and skew n bitypical operant

Principle 4.1

If the operator V is involution operant and also skew – n- bitypical operant, then

V* is also skew - n - bitypical operant.

Proof:

Since V is skew – n – bitypical operant, we have,

$$(V^* V^n V^n V^*)V = V(V^n V^* V^* V^n)$$

∴ V is self adjoint we have V* = V

Replace V* = V

$$\begin{aligned}
 (V^* V^n V^n V^*)V &= V^* V^n V^n V^* V \\
 &= V V^{*n} V^{*n} V V^* \\
 &= V^2 V^{*2n+1} \dots\dots\dots(1)
 \end{aligned}$$

$$V(V^n V^* V^* V^n) = V V^n V^* V^* V^n$$

$$= V^* V^{*n} V V V^{*n}$$

$$= V^2 V^{*2n+1} \dots\dots\dots(2)$$

From (1) and (2) V^* is skew – n – bitypical operant.

Principle :4.2

If V is involution operator then V^{-1} is also a skew – n – bitypical operant..

Proof:

By the definition of involution operant we have $V^* = V$

Assume that V^{-1} involution operant $\therefore (V^{-1})^* = V^{-1}$

To prove that V^{-1} is skew – n – bitypical operant

Consider,

$$(V^* V^n V^n V^*) V = (V^{-1})^* (V^{-1})^n (V^{-1})^n (V^{-1})^* V^{-1}$$

$$= V^{-1} (V^{-1})^n (V^{-1})^n V^{-1} V^{-1}$$

$$= (V^{-1})^3 (V^{-1})^{2n} = (V^{-1})^{2n+3} \dots\dots\dots(1)$$

$$V(V^n V^* V^* V^n) = (V^{-1})(V^{-1})^n (V^{-1})^* (V^{-1})^* (V^{-1})^n$$

$$= (V^{-1})(V^{-1})^n (V^{-1})^* (V^{-1})^* (V^{-1})^n$$

$$= (V^{-1})^{2n+3} \dots\dots\dots(2)$$

From (1) & (2), V^{-1} is skew – n – bitypical operant.

Principle 4.3:

If V is a involution operant on a Hilbert space $H(T)$, then L^*VL

Is skew – n – bitypical.

Proof:

$\because V$ is involution operant, $V^* = V$

Consider, $(L^*VL)^* = L^*V^*L \dots\dots\dots(1) \because V^* = V \Rightarrow L^*VL$ is self adjoint

By Principle (3.2) if L^*VL is involution operant, then it is skew – n – bitypical.

Assume L^*VL is involution operant..

consider $(V^*V^nV^nV^*V = (L^*VL)^* (L^*VL)^n (L^*VL)^n (L^*VL)^* (L^*VL)$

$$= (L^*V^*L)(L^*V^nL)(L^*V^nL)(L^*V^*L)(L^*VL)$$

$$= (L^*VL)(L^*V^nL)(L^*V^nL)(L^*vL)(L^*VL)$$

$$= (L^*V^nL)^2(L^*VL)^3 \dots\dots\dots(1)$$

$$V(V^nV^*V^*v^n) = (L^*VL)(L^*VL)^n (L^*VL)^* (L^*VL)^* (L^*VL)^n$$

$$= (L^*VL)(L^*V^nL)(L^*V^*L)(L^*V^*L)(L^*V^nL)$$

$$= (L^*VL)(L^*V^nL)(L^*VL)(L^*VL)(L^*V^nL)$$

$$= (L^*VL)^3(L^*V^nL)^2 \dots\dots\dots(2)$$

=From (1) &(2) L^*VL is skew – n – bitypical

Quasi (n,m) power D Hypotypical operators

An operator $V \in B(H)^D$ is said to be Quasi (n,m) power D- hypotypical if

$$V^*(V^{*m}(V^D)^n - (V^D)^n V^{*m})V \geq 0 \text{ for } m,n = 1,2,\dots$$

Proposition 5.1

If $V,W \in B(H)^D$ are unitarily equivalent and if V is quasi (n,m) power – D- hypotypical operant. Then so is W.

Proof:

Let V be an quasi (n,m) power D –hypotypical operant and W be unique similar of V.

Then there exists unitary operant U such that $V = UWU^*$ so $V^n = UW^nU^*$

Consider

$$\begin{aligned} V^*(V^{*m}(V^D)^n V) &= (UWU^*)^*(UW^mU^*)^*(UW^DU^*)^n(UWU^*) \\ &= UW^*U^*UW^{*m}U^*U(W^D)^nU^*UWU^* \\ &= UW^*W^{*m}(W^D)^nWU^* \\ &\geq UW^*(W^D)^nWU^* \\ &= UW^*U^*U(W^D)^nU^*UW^{*m}WU^* \\ &= V^*(V^D)^nUW^{*m}U^*W \\ &= V^*(V^D)^nV^{*m}UU^*W \\ &= V^*(V^D)^nV^{*m}UWU^* \\ &= V^*(V^D)^nV^{*m}V \\ \text{i.e } V^*(V^{*m}(V^D)^n - (V^D)^n V^{*m})V &\geq 0 \end{aligned}$$

Principle 5.2

Let V_1, V_2, \dots, V_k are quasi (n,m) power D hypotypical operant in $B(H)^D$. Then

$$(V_1 \oplus V_2 \oplus \dots \oplus V_k) \text{ is}$$

Quasi (n,m) power D hypotypical operant and $V_1 \otimes V_2 \otimes \dots \otimes V_k$ is quasi(n,m) power D – hypotypical operant.

Proof:

Consider

$$(V_1 \oplus V_2 \oplus \dots \oplus V_k)^* ((V_2 \oplus V_2 \oplus \dots \oplus V_k)^*)^m ((V_1 \oplus V_2 \oplus \dots \oplus V_k)^D)^n (V_1 \oplus V_2 \oplus \dots \oplus V_k) =$$

=

$$\begin{aligned} & (V_1^* \oplus V_2^* \oplus \dots \oplus V_k^*) (V_1^{*m} \oplus V_2^{*m} \oplus \dots \oplus V_k^{*m}) ((V_1^D \oplus (V_1)^n \oplus (V_2^D)^n \oplus \dots \oplus (V_k^D)^n (V_1 \oplus V_2 \oplus \dots \oplus V_k)) \\ & = (V_1^* V_1^{*m} \oplus V_2^* V_2^{*m} \oplus \dots \oplus V_k^* V_k^{*m}) ((V_1^D)^n V_1 \oplus (V_2^D)^n V_2 \oplus \dots \oplus (V_k^D)^n V_k) \\ & = V_1^* V_1^{*m} (V_1^D)^n V_1 \oplus V_2^* V_2^{*m} (V_2^D)^n V_2 \oplus \dots \oplus V_k^* V_k^{*m} V_k^D V_k \\ & = (V_1 \oplus V_2 \oplus \dots \oplus V_k)^* ((V_1 \oplus V_2 \oplus \dots \oplus V_k)^D)^n ((V_1 \oplus V_2 \oplus \dots \oplus V_k)^*)^m (V_1 \oplus V_2 \oplus \dots \oplus V_k) \\ & \geq V^* (V^D)^n (V^*)^m V \end{aligned}$$

Therefore $(V_1 \oplus V_2 \oplus \dots \oplus V_k)$

is quasi (n,m) power D – hypotypical operant.

Consider

$$\begin{aligned} V^* V^{*m} (V^D)^n V & = (V_1 \otimes V_2 \otimes \dots \otimes V_k)^* ((V_1 \otimes V_2 \otimes \dots \otimes V_k)^*)^m (V_1^D \otimes V_2^D \otimes \dots \otimes V_k^D)^n (V_1 \otimes V_2 \otimes \dots \otimes V_k) \\ & (V_1^* \otimes V_2^* \otimes \dots \otimes V_k^*) (V_1^{*m} \otimes V_2^{*m} \otimes \dots \otimes V_k^{*m}) ((V_1^D \otimes (V_1)^n \otimes (V_2^D)^n \otimes \dots \otimes (V_k^D)^n (V_1 \otimes V_2 \otimes \dots \otimes V_k)) \\ & = (V_1^* V_1^{*m} \otimes V_2^* V_2^{*m} \otimes \dots \otimes V_k^* V_k^{*m}) ((V_1^D)^n V_1 \otimes (V_2^D)^n V_2 \otimes \dots \otimes (V_k^D)^n V_k) \\ & = V_1^* V_1^{*m} (V_1^D)^n V_1 \otimes V_2^* V_2^{*m} (V_2^D)^n V_2 \otimes \dots \otimes V_k^* V_k^{*m} V_k^D V_k \\ & = (V_1 \otimes V_2 \otimes \dots \otimes V_k)^* ((V_1 \otimes V_2 \otimes \dots \otimes V_k)^D)^n ((V_1 \otimes V_2 \otimes \dots \otimes V_k)^*)^m (V_1 \otimes V_2 \otimes \dots \otimes V_k) \\ & \geq V^* (V^D)^n (V^*)^m V \end{aligned}$$

Therefore $(V_1 \otimes V_2 \otimes \dots \otimes V_k)$

is quasi(n,m) power D – hypotypical operant.

Quasi Square n Bitypical operators

An operator $V \in L(H(T))$ is called Quasi Square n Bitypical if

$$V(V^*)^2 V^{2n} V^{2n} (V^*)^2 = (V^{*2} V^{2n} V^{2n} (V^*)^2) V$$

Principle 6.1

If V is a quasi a square n – bitypical operant which is a self adjoint operant, then V^* is also quasi Square – n bitypical operant,

Proof:

If V is quasi Square – n – bitypical

$$V(V^*)^2 V^{2n} V^{2n} (V^*)^2 = (V^*)^2 V^{2n} V^{2n} (V^*)^2 V$$

operant, then \therefore *Visselfadjoint*.

$$V^* = V$$

$$V^* ((V^*)^*)^2 (V^*)^{2n} (V^*)^2 ((V^*)^*)^2 = V^* (V^2) (V^*)^{2n} V^2 \dots\dots\dots(1)$$

$$\text{Here } V^* = V$$

$$(V^*)^2 V^{2n} V^{2n} (V^*)^2 V = (V)^2 V^{*2n} V^{*2n} (V)^2 V^* \dots\dots\dots(2)$$

From (1) and (2) V^* is also quasi square n – bitypical operatos.

4.Conclusion

In this paper some of the properties of skew n normal operants and skew-n-bitypical operants were studied. With the view of upcoming researches this class of operant can be developed to higher class of operant .

References

1. Joseph A. Ball and Vladimir Bolotnikov (2021) Non commutative Function-Theoretic Operator Theory and Applications
- 2.S.K. Berberian, Introduction to Hilbert space, Chelsea Publishing Company, New York (1976).
3. P.Dibrell and J.T.Campbell, Hyponormal powers of composition operators, Proc. Amer. Math. Soc.,**102** (1988).
4. Cao Jiang and Shi-An Han Complex symmetric weighted composition operators on the Hardy (2022)
5. Mark Burgin and Gordana Dodig-Crnkovic, Prolegomena to an Operator Theory of Computation (2020)
- 6.Federico Bastianoni¹ · Elena Cordero Quasi-Banach modulation spaces and localization operators on locally compact abelian groups
- 7.Kaikai Han & Maofa Wang Some properties of composition–differentiation operators(2022)
- 8.Emma D’Aniello and Martina Maiuriello A survey on composition operators on some function spaces (2022)
- 9.Xin Guo & Maofa Wang Linear Combination of Composition Operators on Bergman and Korenblum Spaces(2021)
10. Ping Liu , Qiang Zhang and Jürgen Pannek ² Development of Operator Theory in the Capacity Adjustment of Job Shop Manufacturing Systems,
11. Mingcong Deng and Shotaro Kubota, Nonlinear Control System Design of an Underactuated Robot Based on Operator Theory and Isomorphism Scheme
12. Ilmi hoxha and naim l. braha ,on (n,k) –quasi class q^* operators
13. Naim Braha , Ilmi Hoxha, Yousef Estaremi(2022), (n,k) -quasi class Q and (n,k) -quasi class Q^* weighted composition operators